39D 863 Hi#iEtk
Oilless Wear Plate

Sliding Bearing Speclalist

= FaNGMU

R BhEA+ AR
Material CuZn25AI6Fe3Mn3+ Graphite
i "
[ N B ) ; ‘
OIS _—
-~ PP g0 @ |
* oo ... .. B | @ — ®
P e Slide Direction ! ‘ l
: | . OF T ]
g N ‘
L2 L3 = e L1
@ S |
B {Tunit:mm
Code b L1 b2 L2 L3 L4 Bolt Screw Holes
ElR= -0.2 -0.2 +0.2 +0.2 +0.2 +0.2 w2l
39D863-12 80 - 30 - M8 x 25
39D863-13 100 - 50 -
39D863-14 125 - 75 - 2
39D863-15 160 - 110 -
39D863-16 200 - 150 -
39D863-111 50 250 - 25 60 80
39D863-112 300 - 80 90 M12x25
39D863-113 350 - 100 100 4
39D863-114 400 - 120 110
39D863-115 450 - 140 120
39D863-116 500 - 150 150
39D863-21 50 30 - M8 x 25
39D863-22 80 - 30 -
39D863-23 100 - 50 - 9
39D863-24 125 - 75 -
39D863-25 160 - 110 -
39D863-26 80 200 - 25 150 -
39D863-121 250 - 60 80 M12 x 25
39D863-122 300 - 80 90
39D863-123 350 - 100 100 4
39D863-124 400 - 120 110
39D863-125 450 - 140 120
39D863-126 500 - 150 150
39D863-31 50 50 25 -
39D863-32 80 40 -
39D863-33 100 - 50 - 9
39D863-34 125 - 75 -
39D863-35 100 160 - ”s 110 - M1225
39D863-36 200 - 150 -
39D863-131 450 - 140 120 4
39D863-132 500 - 150 150
39D863-41 50 25 - 2
39D863-42 80 40 -
39D863-43 100 75 50 -
39D863-44 125 75 -
39D863-45 125 160 s 110 - M1225 3
39D863-46 200 150 -
39D863-141 450 - 140 120 4
39D863-142 500 - 150 150
39D863-51 50 25 - 2
39D863-52 80 40 -
39D863-53 100 50 -
39D863-54 160 125 1o ”s 75 - M12525 s
39D863-55 160 110 -
39D863-56 200 150 -

E: BRI EMERSTSN, WTiRE P ELRSIS.

Note: In addition to the above specifications of size, manufactured according to customer drawings .

16



